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Question No : 1

How can you switch between different perspectives? Note: There are 2 correctanswers to
this question.

A. Using the Window menu

B. Using the Perspectives menu
C. Using the Back button

D. Using the Last Used icon

Answer: A,D

Question No : 2

What is the correct URL fora client to post an http message to the HTTP_AAE adapter of
SAP Process Orchestration?

A. http://<host> :<port> /sap/xi/adapter_plain?< query-string > < /query-string > </port>
</host>

B. http: // < host > : < port > | HttpAdapter/HttpMessageServlet? < query - string > </
query - string > <v u /port > </ host >

C. http: 11 < host >: < port > | HttpAdapter/service? < query - string > </ query - string > <
/port > </ host

D. http./ / < host >: < port >/ sap/ http / sender? < query - string > </ query - string > </
port > </ host >

Answer: B

Question No : 3

For processing a request, a ... must be available on Process Integration (PI).
Choose the correct answer.

A. server routing
B. technical routing
C. sender agreement

Answer: B
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Question No : 4

Which of the following tools are used for creating the configuration view for the integrated
configuration?

Choose the correct answers.

A. Central Advanced Adapter Engine (AAE)
B. Non-central AAE

C. Advanced Adapter Engine Extended (AEX)
D. System Landscape Directory (SLD)

Answer: AB,C

Question No : 5

The lifetime of a Business Process in SAP BPM is generally identified with the time elapsed
between the Start Event and the Error End Event. What are the events that abort a
business process? Note: There are 2 correct answers to this question.

A. Escalation End Event
B. Termination

C. Error End

D. Expiration Time

Answer: A,C

Question No : 6

The Simple Object Access Protocol (SOAP) receiver adapter requires the ... for its
functioning.

Choose the correct answer.

A. Advanced Adapter Engine (AAE)
B. Communication Channel
C. Integration Engine (IE)

Answer: A
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Question No : 7

On which of the following are process controlled solutions based?
Choose the correct answer.

A. Nontechnically oriented applications supporting end-to-end business processes.
B. Reuse of existing technicalcapabilities.

C. Methods used for defining an organization's workflows.

D. Reuse of interfaces associated with the process.

Answer: B

Question No : 8

You create anasynchronous scenario. The message sequence must remain identical.
Which Quality of Service must you use?

A. Best Effort (BE)

B. Exactly Once (EO)

C. Exactly Once in Order (EOIO)
D. gRFC

Answer: B

Question No : 9

What are valid custom function types in mappings within integration flows (iFlows)? Note:
There are 3 correct answers to this question.

A. Expression functions

B. Enterprise Application Archive (EAR) functions
C. Enterprise Java Beans (EJB) functions

D. Apache Camel Casting functions

E. Mapping functions

Answer: A,C,E

Question No : 10
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The ... acts as a central point of information for all interfaces.
Choose the correct answer.

A. Software component
B. Enterprise Services Repository (ESR)
C. Imported object

Answer: B

Question No : 11

What are the three Business Process Management components
Choose the correct answers.

A. Process Composer
B. Process Context
C. Process Desk

D. ProcessServer

Answer: A,B,D

Question No : 12

Where can a sequence flow go? Choose the correct answer.

A. It must stay in its own lane.

B. It can cross lanes within its own pool, but it cannot cross the boundary
of its pool.

C. It can cross lanes within its own pool and can cross pool boundaries.

Answer: B

Question No : 13

What is Rules Manager used for?

Choose the correct answers.
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A. Creating rules

B. Modeling business processes
C. Storing rules

D. Testing rules

Answer: A,D

Question No : 14

For the Java development environment, the proxy objects are generated directly in the
ESR as a Java archive and this is then made available to the Java server.

Determine whether this statement is trueor false.

A. True
B. False

Answer: A

Question No : 15

Input masks are commonly used in technical process in the business layer and are created
using various technologies. Which of the following is a valid technilogy used in SAP BPM to
create input masks?

Choose the correct answer.

A. Visual Forms
B. Web Dynpro
C. Adobe Composer

Answer: B

Question No : 16

The Enterprise Service Repository (ESR) is in the Process Composer perspective.
Determine whether this statement is true or false.

A. True
B. False
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Answer: B

Question No : 17

Which event pauses and waits for callback response from outside the process before
resuming?

A. IntermediateBoundary Event
B. Intermediate Artifact Event

C. Intermediate Message Event
D. Intermediate Data Object Event

Answer: C

Question No : 18

Which of the following XSLT tags allow you to import additional XSLT files?
Choose the correct answers.

A. <xsl:Include>
B. <xsl:param>
C. <xsl:Import>

Answer: B

Question No : 19

What do application rules define? Choose the correct answer.

A. A set application tasks and sequencing.

B. A set of restrictions placed on te process model.
C. A set of conditions with associated actions.

D. A set of standard practices and policies.

Answer: C

Question No : 20
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Which of the following elements determine the uniquenessof an object in the Enterprise
Services Repository (ESR)? Note: There are 3 correct answers to this question.

A. The service registry

B. The business system name

C. The name of the object

D. The name of the software component
E. The associated namespace

Answer: C,D,E

Question No : 21

A business process is created in a pool. Determine whether this statement is true or false.

A. True
B. False

Answer: A

Question No : 22

What are the characteristics ofa software component? Note: There are 3 correct answers
to this question.

A. It provides interfaces.

B. It is installed on business systems.

C. It can have multiple versions.

D. It is a modular entity.

E. It is based on Component Object Model.

Answer: A,C,D

Question No : 23

The COMMIT WORK statement is required in another function module to write data inthe
database.

Determine whether this statement is true or false.
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A. True
B. False

Answer: A

Question No : 24

Which object do you import from the SLD before you start creating design objects in the
ESR?

A. Software catalog
B. Product instance
C. Business system
D. Software component version

Answer: D

Question No : 25

What does the Process List View show? Choose the correct answer.

A. All process instances available in aprocess.
B. All process instances running in a process.
C. All process instances relevant to you.

D. All process instances that are completed.

Answer: C

Question No : 26

Which Integration Patterns for creating iFlows are available in SAP NWDS (Eclipse)? Note:
There are 3 correct answers to this question.

A. Message Aggregator
B. Message Dispatcher
C. Message Translator

D. Recipient List

E. Point-to-point






